Cri/da? 2 BARIY ALY (5F-3)

|7 7118 7119 7120 7121
08 : 00
BApER
08 : 20
: (73%)
08 : 20 " Lo e B
s (% 71) A
09+ 05 R 2 (F55) (8 |
Femip | BAmmyy | K24 R d £
09 : 15 g | BEF L RRE | AT | oy
SRR v I
10 : 00 (% 3] % 51) e LA
10 : 00
TR
10 : 15
10: 15 (L% 2) CLEES
120 “®E | agena | POOEE ) Sy
11:00 | (FFERD L st T
110 ik e 33
I EEFR IR % 718 B e 4 FTE B
11:55 ER R U ER T GRS LE S
11: 55
R R
12 1 30
12 : 30
- R
13: 10
13: 20
14 . 05 4 /2 E2) (%if) (iﬁf—2) > ey
GO ppes | oemees | G (D
o= A EA ks #HEX AR &R
. LN = 7 BTk SF T ke 3T
W15 | 2R spape | xmsg | 0 CER | EIAEE
15 1 00
15 : 10
15 ! 55 KEF Ly G RIE 23 H 5
16 : 00

17 2 00

R o

SRR L0 (BREE A R )




Cri/d gt +BFRY BBzl ($-:3%)

e 7124 7125 7126 7127 7128
08 : 00
BRpER
08 : 20
08 : 20 (2% 35)
(&5 T Atk
09- 05 RN (i) (F5) OR%) | X Fliem
X pF AR A ey
09: 15 A2 HfFERG | K| XEERE | aee g
10 : 00 2 in AT
10 : 00
FrAFE PR
10 : 15
1015 Y A
11: 00 NI R
H1¢
. L
11310 Ry A 0w
11 :55 Lp RS
11 : 55
A
12 1 30
12 : 30
= RpER
13 1 10
13 : 20
- . AT3E) | GhEe )
14205 (%) (== 25) | | @es e
g ﬁﬁsﬁw. ﬁﬁlljﬁ PR R
. b FN e M R , o
14 : 15 EEFI3 TEAR Lprina £ %Wi;qi R AET Ip
15 : 00
15 : 10
KEF L wAAETRIR S s
15 : 55
B
16 : 00

17 2 00




